
GX390

WWW.RuMoto.Ru - Описание типов, опций, цвета для двигателей Honda GX390 (MTOC Manual Type Option Colour)
Model TypeOption AIRCLEANER CHARGE COIL CHOKE TYPE CONTROL BOX CUSTOMISED DEFLECTOR KIT ELECTRIC STARTER FUEL FILTER LABELING: CARB - EPA LABELING: EN LAMP COIL MUFFLER OIL ALERT PTO KEY TYPE REDUCTION REMARKS SHAFT DIAMETER SHAFT THREAD SPARK ARRESTOR SUPPLIED LOOSE THROTTLE CONTROL TOOLS ASSY WASHER&BOLT KIT MTO REMARK

GX390RT1 VCN2 SILENT 1A LEVER NO NO NO YES NO YES YES NO SILENT YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO CARB 3 not certified, with A/C purge joint

GX390RT1 VEP9 LOW MOUNT 3 A DIAPHRAGM NO YES NO NO IN LINE YES YES NO GEN TYPE YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF NO MUFFLER FIXED NO NO CARB 3 not certified, with A/C purge joint

Europower

Self-charging fuel-cut solenoid

Low noise engine: stage 2

GX390RT1 VKE4 LOW MOUNT 3 A DIAPHRAGM NO YES NO YES NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES MUFFLER FIXED WRENCH SPARK PLUG NO CARB 3 not certified, with A/C purge joint

Supplied loose: combination switch, muffler, thermoswitch, spark arrester, wrench

GEKO 

auto-choke system

GX390RT1 VKX4 LOW MOUNT NO DIAPHRAGM NO YES NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES MUFFLER FIXED WRENCH SPARK PLUG NO CARB 3 not certified, with A/C purge joint

Supplied loose: combination switch, muffler,solenoid, spark arrester, wrench

GEKO 

auto-choke system

GX390RT1 VPE5 LOW MOUNT 1A DIAPHRAGM NO YES NO YES NO YES YES NO NO YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES SPARK ARRESTER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: spark arrester, exhaust gasket

GX390RT1 VPE9 LOW MOUNT 1A DIAPHRAGM NO NO NO YES NO YES YES NO NO YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES SPARK ARRESTER FIXED NO CARB 3 not certified, with A/C purge joint

Supplied loose: spark arrester, exhaust gasket

Low noise engine: stage 2

Al. push rod, plastic gear, low noise cooling fan, low noise fan cover

GX390RT1 VPX4 LOW MOUNT NO DIAPHRAGM NO YES NO NO NO YES YES NO GEN TYPE YES NO NO NO FUEL TANK, NO STOP SWITCH TAP 2 1/4"/FT INT 5/16-24 UNF YES MUFFLER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: muffler, spark arrester

PRAMAC

GX390RT1 VPX9 LOW MOUNT NO DIAPHRAGM NO NO NO NO NO YES YES NO NO YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES SPARK ARRESTER FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: spark arrester, exhaust gasket

Low noise engine stage 2: Al push rod, plastic gear, low noise fan cover,low noise cooling fan



GX390RT1 VS49 LOW MOUNT 1A DIAPHRAGM NO NO NO YES NO YES YES NO NO YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES EXHAUST GASKET FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: exhaust gasket, combination switch

Low noise engine: stage 2

Al. push rod, plastic gear, low noise fan cover, low noise cooling fan

GX390RT1 VSD4 LOW MOUNT 1A DIAPHRAGM NO NO NO YES NO YES YES NO NO YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF NO EXHAUST GASKET FIXED NO NO CARB 3 not certified, with A/C purge joint

Supplied loose: exhaust gasket, combination switch

No oil level gauge

GX390RT1 VTH4 LOW MOUNT 10 A DIAPHRAGM NO YES NO YES NO YES YES NO NO YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES EXHAUST GASKET FIXED NO NO CARB 3 not certified, with A/C purge joint

GENSET

Exhaust pipe mounted on engine

Supplied loose: exhaust gasket, spark arrester

GX390RT1 VWT4 SILENT NO LEVER NO YES NO YES NO YES YES NO NO YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF NO EXHAUST GASKET FIXED NO NO CARB 3 not certified, with A/C purge joint

WTA

GX390T1 QBE1 OIL BATH 1A LEVER YES YES NO YES NO NO YES NO STD NO NO NO TILLER SPEC 1 INCH INT 3/8-24UNF NO LEVER / REMOTE CABLE NO NO BCS, no stopswitch, 3600 -150RPM

GX390T1 QHB1 OIL BATH NO LEVER NO YES NO NO NO NO YES NO STD NO NO NO TILLER SPEC 1 INCH INT 3/8-24UNF NO LEVER / REMOTE CABLE NO NO BCS , no stopswitch, 3600 -150RPM

GX390T1 QX DUAL/SILENT NO LEVER NO NO NO NO NO NO NO NO STD YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF NO LEVER / REMOTE ROD NO NO SGA China market, Non EN, Non CARB/EPA

GX390T1 VSP SILENT NO LEVER NO NO NO NO NO NO YES NO SILENT 100 DB YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF NO FIXED NO NO EN-type only

GX390T1 VX SILENT NO LEVER NO NO NO NO NO NO NO NO SILENT 100 DB YES NO NO NON EN TAP 2 1/4"/FT INT 5/16-24 UNF NO LEVER NO NO PRAMAC

Asian specification (NON-EN)

GX390T1 VXE SILENT 1A LEVER YES NO NO YES NO NO NO NO SILENT 100 DB YES NO NO NON EN TAP 2 1/4"/FT INT 5/16-24 UNF NO LEVER NO SDMO, NON-EN TYPE

GX390U1 QAE2 SILENT 3 A LEVER YES NO YES YES IN TANK YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO HINOWA

GX390U1 QNE2 DUAL 10 A LEVER YES NO YES YES IN TANK YES YES NO STD YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF NO KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO

GX390UT1 LKE SILENT 10 A REMOTE YES YES NO YES NO YES YES NO SILENT YES 7 X 7 X 33 1/2 NO RECOILST.,WITH FAN PROT. 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE CABLE NO NO

GX390UT1 LXE4 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 7 X 7 X 33 1/2 (none) 25 MM INTM8X1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX390UT1 LXQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 1/2 (none) 25 MM INT M8 X 1,25 YES KEY # 7X33 LEVER / REMOTE ROD NO NO

GX390UT1 QA2 SILENT NO LEVER NO NO YES NO IN TANK YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO

GX390UT1 QA4 SILENT NO LEVER NO NO YES NO IN TANK YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES WRENCH, KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO

GX390UT1 QE SILENT NO LEVER NO NO YES NO IN TANK YES YES NO SILENT NO 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES WRENCH,KEY # 6,3X43 LEVER / REMOTE ROD WRENCH SPARK PLUG NO

GX390UT1 QHB4 SILENT NO LEVER NO YES YES NO IN TANK YES YES NO SILENT NO 6.3X6.3X43 NO NO ENG SWITCH 1 INCH INT 3/8-24UNF YES WRENCH LEVER / REMOTE CABLE WRENCH SPARK PLUG NO BCS, No engine switch, 3600+0/-150

GX390UT1 QK4 SILENT NO LEVER NO YES YES NO IN TANK YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE CABLE NO NO

GX390UT1 QKA4 SILENT 10 A LEVER YES NO NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE CABLE NO NO

GX390UT1 QME0 SILENT 10 A LEVER YES NO NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF NO NONE LEVER / REMOTE ROD NO NO

GX390UT1 QWA4 CYCLONE NO LEVER NO YES YES NO NO YES YES NO SILENT YES NOT SUPPLIED NO (none) 1 INCH INT 3/8-24UNF YES NONE LEVER / REMOTE ROD NO NO WACKER

GX390UT1 QWC4 CYCLONE 10 A LEVER NO YES YES NO NO YES YES NO SILENT YES NOT SUPPLIED NO (none) 1 INCH INT 3/8-24UNF YES NONE LEVER / REMOTE ROD NO NO WACKER

GX390UT1 QXB7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO Low noise engine: plastic gear, silent fan cover

GX390UT1 QXB9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO Low noise engine stage 2: Al. push rod

GX390UT1 QXC4 CYCLONE NO LEVER NO NO NO NO NO YES YES NO KO YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO K0 type lightweight muffler

GX390UT1 QXC9 CYCLONE NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX390UT1 QXCU CYCLONE NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX390UT1 QXE4 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF NO KEY # 6,3X43 LEVER / REMOTE ROD NO NO

GX390UT1 QXE7 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO Low noise engine: plastic gear, silent fan cover

GX390UT1 QXE9 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE CABLE NO NO Low noise engine stage 2

GX390UT1 QXH9 SILENT 10 A LEVER YES YES NO YES NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO HINOWA

Low noise engine stage2: Al. push rod

GX390UT1 QXQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF NO NONE LEVER / REMOTE ROD NO NO

GX390UT1 QXS4 CYCLONE NO LEVER NO YES NO NO NO YES YES NO KO YES 6.3X6.3X43 NO (none) 1 INCH INT 3/8-24UNF YES KEY # 6,3X43 LEVER / REMOTE ROD NO NO DBSMG

K0 lightweight muffler

GX390UT1 SCK4 SILENT 10 A LEVER YES NO NO YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES KEY # 7X33 LEVER / REMOTE CABLE NO NO

GX390UT1 SHQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT NO 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY #7X33 LEVER / REMOTE ROD NO NO

GX390UT1 SM32 SILENT 10 A LEVER YES NO YES YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO WRENCH, KEY # 7X33 REMOTE CABLE WRENCH NO

GX390UT1 SM34 SILENT 10 A LEVER YES NO YES YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO WRENCH, KEY #7X33 REMOTE CABLE WRENCH NO

GX390UT1 SMC1 SILENT NO LEVER NO NO YES NO IN TANK YES YES 12V-25W SILENT NO 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES WRENCH, KEY # 7X33 LEVER / REMOTE CABLE WRENCH SPARK PLUG NO

GX390UT1 SMD3 SILENT NO LEVER NO NO YES NO IN TANK YES YES NO KO YES NOT SUPPLIED NO (none) 25 MM INT M8 X 1,25 YES WRENCH LEVER / REMOTE CABLE WRENCH SPARK PLUG NO K0 lightweight muffler

GX390UT1 SME0 SILENT 10 A LEVER YES NO NO YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO NONE LEVER / REMOTE ROD NO NO

GX390UT1 SME6 SILENT 10 A LEVER NO NO NO NO NO YES YES NO SILENT YES NOT SUPPLIED NO (none) 25 MM INT M8 X 1,25 NO NONE LEVER / REMOTE CABLE NO NO

GX390UT1 SNC CYCLONE NO LEVER NO NO YES NO IN TANK YES YES NO KO YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES WRENCH,KEY # 7X33 LEVER / REMOTE CABLE WRENCH SPARK PLUG NO K0 lightweight muffler

Q-type crankcase cover (inch thread)

GX390UT1 STC4 SILENT 10 A LEVER YES NO NO YES IN TANK YES YES NO SILENT YES 7 X 7 X 33 NO FUEL TANK WITH GAUGE 25 MM INT M8 X 1,25 YES WRENCH, KEY # 7X33 LEVER / REMOTE CABLE WRENCH SPARK PLUG NO

GX390UT1 SWA4 SILENT NO LEVER NO YES NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES KEY #7X33 LEVER / REMOTE ROD NO NO With exhaust pipe protector

GX390UT1 SXB7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES KEY # 7X33 LEVER / REMOTE ROD NO NO Low noise engine: plastic gear, silent fan cover

GX390UT1 SXB9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 YES KEY #7X33 LEVER / REMOTE ROD NO NO Low noise engine stage 2: Al. push rod

GX390UT1 SXE4 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO KEY # 7X33 LEVER / REMOTE ROD NO NO

GX390UT1 SXQ4 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES 7 X 7 X 33 NO (none) 25 MM INT M8 X 1,25 NO NONE LEVER / REMOTE ROD NO NO

GX390UT1 VN27 SILENT 3 A LEVER YES YES NO YES NO YES YES NO SILENT YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES WRENCH LEVER / REMOTE ROD WRENCH SPARK PLUG NO GEKO

Low noise engine: plastic gear

GX390UT1 VNG1 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO NO NO FUEL TANK TAP 2 1/4"/FT INT 5/16-24 UNF YES WRENCH LEVER / REMOTE ROD WRENCH SPARK PLUG NO Silent fan cover

GX390UT1 VSD7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Low noise engine: plastic gear, silent fan cover

GX390UT1 VSD9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE FIXED NO NO Low noise engine stage 2: Al. push rod, rubber mount fuel tank, low noise cooling fan

GX390UT1 VXB7 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER / REMOTE ROD NO NO Low noise engine: plastic gear, silent fan cover

GX390UT1 VXB9 SILENT NO LEVER NO NO NO NO NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER / REMOTE ROD NO NO Low noise engine stage 2: Al. push rod, rubber mount fuel tank, low noise cooling fan

GX390UT1 VXE7 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER / REMOTE ROD NO NO Low noise engine: plastic gear, silent fan cover

GX390UT1 VXE9 SILENT 1A LEVER YES NO NO YES NO YES YES NO SILENT YES NO NO (none) TAP 2 1/4"/FT INT 5/16-24 UNF YES NONE LEVER / REMOTE ROD NO NO Low noise engine stage 2: Al. push rod, rubber mount fuel tank, low noise cooling fan


